
78

Bearing Rated
Valtage

Power
Current

Power
Consumption Speed Static

Pressure Noise Curve

  VAPO (VDC) (mA) (RPM) (CFM) (inch-H2O) (dB(A)) (g)
 

50x50x15 mm
10.2~18.6 CFM
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MF50151VX-10000-A99 12 100 1.20 7200 18.6 0.31 38.1 33.0 1

MF50151V1-10000-A99 12 66 0.80 6100 17.0 0.23 33.0 33.0 2

MF50151V2-10000-A99 12 42 0.51 5000 13.0 0.17 29.0 33.0 3

MF50151V3-10000-A99 12 28 0.34 3800 10.2 0.12 20.1 33.0 4

MF50152VX-10000-A99 24 55 1.32 7200 18.6 0.31 38.1 33.0 1

MF50152V1-10000-A99 24 42 1.01 6100 17.0 0.23 33.0 33.0 2

MF50152V2-10000-A99 24 27 0.65 5000 13.0 0.17 29.0 33.0 3
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RD / FG Output Signal

PWM Curve

FG Output
Voltage

VH

VL

T1 T2 T3 T4
T = 1 Rotation

t1 t2

T

V

VH

VL

[ FG Signal ]

[ RD Signal ]

VH=
VL=

T=T1+T2+T3+T4=1 Rotation

T= rpm
60

1. Period :

2. Duty Cycle（D.C.） : 

T=              =t1+t2(sec)

t1+t2 T
t1 t1

x100=         x100(%)

f PWM

1

PWM Input Signal

Fan
Operation
Current

RD Output
Voltage

RUN LOCKED
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DtDt
OFF

Vcc V+

RaIf

Fan User System 

(+)

(-)

RD / FG Output

(12V)
V+= 13.8V MAX
If   = 5mA
VL = 0.5V MAX

(24V)
V+= 27.6V MAX
If   = 5mA
VL = 0.5V MAX

Fan
Operation
Current

FG Output
Voltage

t2t1

VH

VL

LOCKEDRUNOFF
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Bearing Rated
Valtage

Power
Current

Power
Consumption Speed Static

Pressure Noise Curve

  VAPO (VDC) (mA) (RPM) (CFM) (inch-H2O) (dB(A)) (g)
 

50x50x15 mm
7.7 CFM
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HA50151V4-10000-A99 12 25 0.30 3200 7.7 0.07 15.4 33.0 1
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RD / FG Output Signal

PWM Curve

FG Output
Voltage

VH

VL

T1 T2 T3 T4
T = 1 Rotation

t1 t2

T

V

VH
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[ FG Signal ]

[ RD Signal ]

VH=
VL=

T=T1+T2+T3+T4=1 Rotation

T= rpm
60

1. Period :

2. Duty Cycle（D.C.） : 

T=              =t1+t2(sec)

t1+t2 T
t1 t1

x100=         x100(%)

f PWM

1

PWM Input Signal

V+= 13.8V MAX
If   = 5mA
VL = 0.5V MAX

Vcc V+

RaIf

Fan User System 

(+)

(-)

RD / FG Output

Fan
Operation
Current

FG Output
Voltage

t2t1

VH

VL

LOCKEDRUNOFF

FG Output Signal


